Job Name:

TagH

Y DAIKIN

Submittal Data Sheet

FTKN24NMVJU / RKN24NMVJU

2-Ton Wall Mounted Cooling Only System

* L
1OV EAN
DANIS

LIMITED)
VARRANIRG

Complete warranty details available from your local dealer or at
www.daikincomfort.com. To receive the 10-Year Parts Limited
Warranty, online registration must be completed within 60 days of
installation. Online registration is not required in California or Quebec.
If product is installed in a commercial application, limited warranty

period is 5 vears.

Indoor Specifications

H/M/L/SL

Cooling
H M
Airflow Rate (cfm) 713 579
L SL
491 417
Sound (dBA) 51/45/39/34

Dimensions (H x W x D) (in)

11-5/8 x 39 x 10-3/8

Weight (Lbs)

27

Efficiency
Cooling
SEER 15
EER 9.2
Performance
Cooling (Btu/hr)
Rated (Min/Max) 22,000 (5,100 / 23,000)
Sensible @ AHRI 16,120
Moisture Removal gal/h 1.2

Operating Range 50°F — 115°F

Indoor: 80°F DB/67°F WB
Outdoor: 95°F DB/75°F WB

Rated Cooling Conditions:

Electrical

208/60/1 | 230/60/1
System MCA 18.3 18.3
System MFA 20 20
Compressor RLA 12.0 12.0
Outdoor fan motor FLA .53 .53
Outdoor fan motor W 80 80
Indoor fan motor FLA .30 .30
Indoor fan motor W 46 46

MFA: Max. fuse amps MCA: Min. circuit amps (A) FLA: Full load amps (A)
RLA: Rated load amps (A) W: Fan motor rated output (W)

Outdoor Specifications

Compressor

Hermetically Sealed Swing Type

Refrigerant

R-410A

Refrigerant Oil PVE (FVC50K)
Cooling
Airflow Rate (cfm) H 2,609
SL 2,196
Sound Power Level (dBA) 59
Dimensions (H x W x D) (in) 28-15/16 x 34-1/4 x 12-5/8
Weight (Lbs) 97

Submittal Creation Date: June 2017

Piping

Liquid (in) 1/4

Gas (in) 5/8

Drain (in) 5/8

Max. Interunit Piping Length (ft) 98.4
Max. Interunit Height Difference (ft) 65.625

Chargeless (ft) 32.8

Additional Charge of Refrigerant (oz/ft) 21

Daikin North America LLC 5151 San Felipe, Suite 500 Houston, TX 77056
(Daikin’s products are subject to continuous improvements. Daikin reserves the right to modify product design, specifications and information in this data sheet without
notice and without incurring any obligations)

Page 1 0of4



P"DAIKIN

| Data

Imensiona

FTKN24NMVJU D

THE MARK (—) SHOWS PIPING DIRECTION

< AIR FLOW (INDOOR)

{ REAR 39 (990mm) } _nt\w
: - — : cZ
LEFT | |_ RIGHT -
[ E|oD
i &.. A_zo_.co_zm 8|s
i MOUNTING PLATE o =%
10-7/16 (265mm) 2>
10-9/8 (263mm) 1-15/16 (50mm) MIN | S~ a\,'m o i
P (SPACE FOR | 15516, (0mm
E C3[— GENERAL RATING  MAINTENANCE) HECRRHED & 00E (SPACE FOR
& e NAME PLATE MAINTENANCE)
> , 5 = | _TERMINAL BLOCK
( ( 3 WITH GROUND
— = ﬁ TERMINAL
I_wa_lul . (INSIDE)
BOTTOM _ _ =
FRONT GRILLE FIXING SCREWS m UP AND DOWN WIND DIRECTION
INSIDE &
- ( ) g CONTROL BLADE MOVABLE RANGE pr— RN LIOSE
= GAS PIPE 65/8 (¢15.9mm) CuT—| ; GAS PIPE
\ @ ) ABOUT 17-5/16 (440mm) L 1OUID BIEE
// | SIGNAL RECEIVER ABOUT 18-1/8 (460mm)
_ L [ OPERATION LAMP /
TIMER LAMP
T K3 INDOOR UNIT ONOFF switcH DRANHOSE ™ \ou1p pipe o1/ (96.4mm) cuT S
Nl- =/ )| RooM TEMP. THERMISTOR ABOUT 14-3/16 (360mm)
1 (INSIDE) 1.D. $9/16 (¢14mm)
MODEL NAME PLATE O.D. ¢5/8 (p16mm) ABOUT 14-3/8 (365mm)
@/ = ABOUT 17-3/4 (450mm)
SIGNAL TRANSMITTER 5| ADE ANGLES £ A v
1-7/8 (48mm) 1316 omm)( — . 2 39 (990mm
= UP/DOWN (AUTOMATIC) = 29-3/8 (746mm) 5 (126.5mm)
COOLING, DRY FAN =
— R — =
E| E =] €
€ " £| E - . El v
m 15° % 10 \% m M _ _ m 3
= 2 W\ % 25\ EI Lol 3
e H 55’ 70° 80° o i€: L\}L_[ JA T
coq| < 65° =
oo = RIGHT/LEFT (MANUAL) 1-7/8 (48mm) WALL HOLE FOR EMBEDDED PIPING ».3/g (60mm)
03-1/8 (080mm) HOLE WALL HOLE
e . y STANDARD LOCATIONS OF WALL HOLES ~ 63-1/8 (080mm) HOLE
WIRELESS REMOTE CONTROLLER 95+ 15 !
(ARCA80R5) s C:3D091778

Daikin North America LLC 5151 San Felipe, Suite 500 Houston, TX 77056

(Daikin’s products are subject to continuous improvements. Daikin reserves the right to modify product design, specifications and information in this data sheet without

notice and without incurring any obligations)

Page 2 of 4

Submittal Creation Date: June 2017



RKN24NMVJU Dimensional Data

(0L 5O 8IN)
S1709 NOILYANNOS HO4 STTOH-¥

(009) 8/5-€2

‘ (S21) 9L/SL-¥

31 NOILVTIVLSNI)
(9v€) 8/S-E1
(SvL)9L/6

D
2 3%
o 32 o
o e}
e m 3
| £ S
) ] o
-
e m
........ s
i o =
o5 =
792 - 3
DOO
=32
>Z>3<’m sopleanc
I—EQ 4-1/8 (105) (6 I »| = 45
o7 Q0| EFC | 11-7/16 (291)
o i = 74 <—-‘
DY m 6-1/2 (165) e < <0
2= o= o 3B 1
mQ ne |[Ee [eXe}
8:05 £H om
<>»=Z (o] < p
mzo =] =
DO i
@
» I]
/
/ .
Q=09 [n g
OopdI (O o
Za 2 |& o
Z = ks
Qo |2 a
45 C€ |© 0
=223 |
Oar- |& o o
Zwﬂ »
= S ]
9 >
%m | TR
2
>
59 L
e
o
_—
=
= -
" z 3
% = =
6 g sl £°
bury < 5
> » 1o
@ Ry 8
g al |2
s § ] m
-
5
3-15/16 (100) _l >
3-15/16 (100) o
P
13-3/4 (350) - o
= 4
©
E [ m
o
= =
o > o z
g |
g = ¢ &
Il G—)
F SEEERRRRRRRRRRSS mg
»
13-3/4 (350) «Q
-
;2
235
=
5 ] =
- iR
g & ~ =
> )
—_ o0
8 em
H B
N/’
13-3/4 (350) I 3-15/16 (100)
T T

0€¢¢600g -0
(ww) you :ypun

Submittal Creation Date: June 2017

(L1) 9L

Daikin North America LLC 5151 San Felipe, Suite 500 Houston, TX 77056
(Daikin’s products are subject to continuous improvements. Daikin reserves the right to modify product design, specifications and information in this data sheet without
notice and without incurring any obligations)

=
lE]
o |m

@

K=
&le
2l
28-15/16 (735) g g

el

||!|| i IIII "|||||||||| ‘lll o

I!énl" Al |||h!!'f||||||||||||||||| \ 'l 2
ﬂ,-u % s
= [
P |-
m &
2 |8
% 3

S o i
n
Q
e
3
G\

m

£ 3

z 3

a =

ol
© ; 5
J
=

e

5

o

(@]

o)

>

D

<

0

=

G

(@]

D

N
-
2
2

Page 3 of4



Optional Accessories

P DAIKIN

Indoor Unit
Included Part Number Description
BRP072A43 Wireless Interface Adapter (S21 Adapter Included)
DACA-TS1-1 Daikin ENVi Intelligent Thermostat Kit (Adaptor Required)
BRC944B2-A08 Wired Remote Controller kit (Adaptor Required)
BRCW901A08 Wired Remote Controller Cord - 8m (Included in above Kit)
DACA-BRCW901P10 Remote Controller Cable, Plenum Rated, 10 ft
DACA-BRCW901P25 Remote Controller Cable, Plenum Rated, 25 ft
KRP980B2 Adaptor for wired remote controller (18 & 24)
KAF970A45 Titanium apatite photocatalytic air-purifying filter WITH frame
KAF970A46 Titanium apatite photocatalytic air-purifying filter WITHOUT frame
DACA-CP3-1 Condensate Pump (Fits inside all Daikin indoor unit heads)
KRP928BB2S + KRP980B2 Interface adaptor for DIII-NET
Outdoor Unit
Included Part Number Description
DACA-WB-1 Powder-Coated Wall-Mounted Bracket
KPWO063A4 Air direction adjustment grille (18 & 24)
KKG063A42 Back protection wire net (18 & 24)
KKG063A43 Side protection wire net (18 & 24)
KKP937A4 Drain Plug for OD Unit

Daikin North America LLC 5151 San Felipe, Suite 500 Houston, TX 77056

(Daikin’s products are subject to continuous improvements. Daikin reserves the right to modify product design, specifications and information in this data sheet without

Submittal Creation Date: June 2017

notice and without incurring any obligations)

Page 4 of 4



